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Answers should not contain negative exponents.
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2. If f(x) = fmd f'(x) (simplify fully) Then write the equation of the line tangent o
to f(x)atx= 1 in pomt slope form. (6 points)
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. Pierre is walking along a straight clothes line. His position can be modeled by the function

p(t) = 2t3 — 21t% + 60t + 3 where p(t) is in feet, t is in hours and t = 0. Use this to
answer the questions below. Include units with your answers for parts ¢, d.
(2 points each part)

a. Whatis Pierre's velocity function? b. What is Pierre's acceleration function?

',V(vt)%viz-l%élﬂéo Ca(+)s(2t-42

c. Whatis his velocityatt=1? d. What is his acceleration att =17
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e. Is his velocity increasing or | f. Is his speed increasing or decreasing
decreasing att =17 Why" att=17 Why’)
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g When did Plerre stop?

\/[t) = ¢t f'tfﬂl* {0 |
O=b(+-7¢+19) o 2 5
C(¢-5)(¢-1)

h. Onwhat intervals is he moving to the left and right?
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2. If f(x) = ﬁnd f(xy (sunphfy fully) Then write the equation of the line tangent
to f(x) atx = 1 (6 pomts)
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3. Find the values of x on the graph of h(x) =
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. Pierre is walking along a straight clothes line. His position can be modeled by the function
p(t) = 2t3 — 18t? + 48t + 3 where p(t) isin feet, tis in hours and t 2 0. Use this to

answer the questions below. Include unitSwith youranswers for parts c, d. .

(2 points each part)

a’ Whatis Pierre's velocity function?

V=634 g

c. Whatis his veloéity ati‘=1? '
v(1)=€(d-34()+4E
v()=1$ £,

e. Ishis velocity increasing or
decreasing att=1? Why?
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g. When did Pierre stop?

0= E43-34t+hg

b. What is Pierre's acceleration function?

a(t)=12¢-3¢

 d. What is his-acceleration at t = 1?

a(1)=13(1)-3¢
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f. Is his speed increasing or decreasing
att=1? Why?
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h. On what intervals is he moving to the left and right?
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